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[STRAIGHT OBJECTIVE TYPE] [4 x 3 =12]

The value of log, ((log81 3)log3 = ) 1sequal to

(A*) -8 (B) -4 1log,3 (C) 8 (D)—-4log,2

The real x and y satisfy simultaneously log.x + log 4y:2 =5 and log.y + log4x2 =7 then the value of xy
1s equal to

(A*) 29 (B) 212 (C) 218 (D) 224

Number of digits in4'®- 5% is (use log,,2 =0.3010)
(A) 27 (B*) 28 (C) 29 (D) 30

Number of real x satisfying the equation |x -2+ |x-3I=Ix-111s
(A) 1 (B*) 2 ()3 (D) more than 3

[MULTIPLE OBJECTIVE TYPE] [1x4=4]

n radical sign

(A*) independent of p,but dependenton n  (B) independent of n, but dependent on p

(C) dependentonbothp & n (D*) negative.
[IMATCH THE COLUMN] [3+3+3+3=12]
Column-I Column-II
L1
(A) If 4*- 3,x 2 =3 2 _)2x-I then (2x) equals (P) 1
(B) The number of solutions of log, log. (\/ X+5+4/x ) =0 18 (Q)
(C) The number of values of x such that the middle term of (R) 3
= 1
log,2, log,(2*-5), log, (2 - 5) 1s the average of the other two 1s (S) 4

(D) If o, are the roots of the equation

0%

log, 3 [logs 2
xz—(3+7—\ s L )x—2(3l°g32_2'°g23)=0then2(a+B)—aﬁ equals

[Ans.(A)R;(B) P (C) P; (D) S]

ISUBJECTIVE]
The circumference of a circle circumscribing an equilateral triangle 1s 24 units. Find
(a) the area of the circle inscribed in the equilateral triangle.
(b) area of the equilateral triangle inscribed in the inner circle. [3+3]

[Ans. (a) 367, (b) 27+/3 ]

T
[fO<x< Z andcos X +sInx = Z , find the numerical values of cos x — sin x. [5]
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